H & 0l & AHS B Ml A

SAT A
T J2E0Y SH(SUHSS/AHL4L - 0fE)
Rl EEH o2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ol okt 18,644,428 14,688,439 3,955,989
= 6,182,986
[ 1,000,000
= 2,001,040
Al 9,460,402
ll2E01g S (sdalYsat/oi bt - 01E) 18,543,933 14,560,849 3,983,084
= 6,182,986
[ 1,000,000
= 2,001,040
Al 9,359,907
S8 g2 27,500 28,000 A500
OIEHe 2e| 27,500 28,000 A500
201 Ler=23 | 19,500 19,500 0
01 At2teltl 19,500 19,500 0
OIS &3 & Al
15,0002 »2000H 3,000
O=g=4g 2,000
CAUTIRBRISTARS AV BA 22
100,000 x10E #2323 2,000
OOl o TE0Y ORI FIN
3,000,000& %14 3,000
ONE0ISHEAHE HBIIE2E MH
2,500,000 *14] 2,500
O0lg& - (Tt SHatsE
500,000& x102] 5,000
O=4tSItdard OEE A
2,000,000& %14 2,000
ONg2 - Yot 22 FH|
2,000,000 *14] 2,000
202 04| 8,000 8,500 A500
01 SLHoIH 8,000 8,500 2500
Oolga & JXd FE0Ed I XA
20,0002 x3& =80 4,800
O8aNd dIXME AF =2
20,0003 x2& »80! 3,200
BN XA & d & 6,776,831 5,326,527 1,450,304
= 2,910,906
= 933,840
Al 2,932,085
IERHE B N 2,100,000 714,000 1,386,000
= 1,050,000
= 210,000
Al 840,000
307 elztol & 2,100,000 714,000 1,386,000
= 1,050,000




SAT A
B 2201 SH(SHSSA/EHLEN - OfE)
ool HEAYA X U KR FY (crel: g)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
< 210,000
Al 840,000
02 2IZHB A E £ 2,100,000 714,000 1,386,000
OolERE 22 X
2,100,000,000& *14] 2,100,000
= 1,050,000
< 210,000
Al 840,000
B AE HARIZ(HHRALZ) ZEMAIY 1,168,906 1,249,602 280,696
= 1,168,906
201 =3 9,459 7,888 1,571
= 9,459
01 AtR2t2|HI 9,459 7,888 1,571
OFBALASMATA(HEAR) N2
Agae] & 2E 9,459,000 *14] 9,459
= 9,459
202 OH| 10,080 13,000 A2,920
= 10,080
01 =LHA I 10,080 13,000 A2,920
OFBHLASMATS (HEAZ) NED
F=&0| 20,0003 x 12 x42 10,080
= 10,080
301 LEIE NS 1,149,367 1,228,714 NT9,347
= 1,149,367
14 JIEt2a3 1,149,367 1,228,714 NT9,347
OZSA-MSUAMTA(HEAIR) RES
1,149,367,000& x14] 1,149,367
= 1,149,367
ZSBSMSHATA(BIEAMZ) HES HAWS X 212,300 212,300 0
At
301 22N = 212,300 212,300
14 0Bt 2as 212,300 212,300
OFSALNSMAT (HIBAIE) RES
s X2 1,930 %110,000% 212,300
B UK 2=(H+2 SIEHE) 576,000 560,000 16,000
= 432,000
Al 144,000
403 AXIEHMSAH=0lE 576,000 560,000 16,000
= 432,000
Al 144,000
02 S712S0 e H=E P E AL 576,000 560,000 16,000
OZEd Xl 2=2(i+Z SIEBD)
720,000,000 #80% 576,000
= 432,000




S OfRM AL
B 2201 SH(SHSSA/EHLEN - OfE)
ool HEAYA X U KR FY (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 144,000
LAY XSSIAIEEH X2 (HEAY) 80,000 80,000 0
== 50,000
Al 30,000
402 212 X201 & 80,000 80,000 0
< 50,000
Al 30,000
02 QIZEXHE AL E X (01X THE) 80,000 80,000 0
OANE NS AIEEHl N2 A
100,000, 000& *80% 80,000
= 50,000
Al 30,000
SO TZE (SAEX Y LRAY) (HEALY) 300,000 300,000 0
== 270,000
Al 30,000
206 M=l 300,000 300,000 0
< 270,000
Al 30,000
01 MHZH| 300,000 300,000 0
O==4tEXt MY SFAIS
300,000,000 x 14 300,000
= 270,000
Al 30,000
OS2 Bl HE LA 309,300 309,300 0
201 et 3| 5,600 5,600
01 AtR2t2|H] 5,600 5,600
Oget=EH| 2,000
SHUET ALBE P
2,000,000& *14] 2,000
ouzta 3,600
CHYET PADI LABX YT HOIK
ESPNES SR, 900,0003 *12{ %43 3,600
202 04| 3,700 3,700
01 =LHOLI 3,700 3,700
OOIS Y HICIES ALY BRI &0l
20,0003 x28 50 2,000
O+4 e X4 Y2z
85,0002 x2& 10 1,700
206 M=l 300,000 300,000
01 M=4l 300,000 300,000
OOI=¢ HICHEE A (=0 A2 S 60,0008 &
Z8) 20,000,000 1504 2~ 300,000
GHATMISEE AL (M EHALY) 306,250 306,250 0
= 245,000




SAT A
B 2201 SH(SHSSA/EHLEN - OfE)
ool HEAYA X U KR FY (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 61,250
206 MH=HI 306,250 306,250 0
=S 245,000
Al 61,250
01 2 306,250 306,250 0
OBMA IR A (2B RS 20,658 T
&) 306,250,000 x14] 306,250
< 245,000
Al 61,250
NS YD Bt = 56,000 0 56,000
= 22,400
Al 33,600
307 @20l & 56,000 0 56,000
=S 22,400
Al 33,600
02 QB AANEER 56,000 0 56,000
ONSEL Uit IS A
70,000,000 »80% 56,000
S 22,400
Al 33,600
0 A SEAY 30,000 30,000 0
206 MH=Hl 30,000 30,000
01 MZH| 30,000 30,000
OLZ 4R SEAY
30,000,000 * 14 30,000
RULMNEES SNBSS 50,000 50,000 0
== 15,000
Al 35,000
402 2I2E X201 & 50,000 50,000 0
< 15,000
Al 35,000
02 QIZHXHZ AL E (01X THE) 50,000 50,000 0
OFRLLANES ShSas
100,000, 000& *50% 50,000
= 15,000
Al 35,000
BICHE 23t AL 140,000 140,000 0
== 42,000
Al 98,000
308 AHXIHMSO0IA 140,000 140,000 0
< 42,000
Al 98,000
11 SIS0 EAS A 140,000 140,000 0
OBttHE 23t At 140,000,000& * 14| 140,000




SA: O{QAAD
HE: D220/ SH(SYHSLA/HLSA - 0F)
ool ASAYA X U KR X4

S A - BRI - NRA - BES of e A
< 42,000
Al 98,000
201 &gk MAE ARG (20 ANY) 500,000 500,000
308 AHXIEMSOIE 500,000 500,000
1 SIS0t EAS A 500,000 500,000
OBS0f A2t HAIR FHAR(2OFRIE A
&) 500,000,000 x 14 500,000
Bit=& =2l 35,875 35,875
201 =3 20,000 20,000
2 S22l 20,000 20,000
OHICIZE A& RXIE4
20,000,000 * 14| 20,000
206 =4I 15,875 15,875
01 MZH| 15,875 15,875
Outtt=gd A2l 15,875,000 * 14 15,875
s2c/01g |4 469,400 469,400
= 260,000
Al 209,400
201 et 3| 1,000 1,000
01 AtR2te|Hl 1,000 1,000
OXE2elog S XdA=E 24X
g 28 =8 1,000,000& 124 1,000
202 Od| 400 400
01 =LHNHI 400 400
OXE2elog SdAM S el
20,0003 x 1 »20 400
402 2I2FX=01 & 468,000 468,000
= 260,000
Al 208,000
02 RIENEASEZ(0IETHR) 468,000 468,000
OxE2elog s4 520,000, 000& *90% 468,000
= 260,000
Al 208,000
As2elodEsH =<0 N 145,800 145,800
= 43,740
Al 102,060
307 el2to| & 145,800 145,800
= 43,740
Al 102,060
02 QIHEHAIEE X 145,800 145,800
OXE2Ac0EESSH =01 AA
162,000,000 *90% 145,800
< 43,740
Al 102,060




SAT A

B 2201 SH(SHSSA/EHLEN - OfE)

ool HEAYA X U KR FY (crel: g)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
MSLAY FE01ME S=XE 19,000 19,000

= 5,700
Al 13,300
307 el2to| & 19,000 19,000
= 5,700
Al 13,300
02 QIZtEHAEE X 19,000 19,000
OMSUAE SR0IME 22X
38,000,000 #50% 19,000
== 5,700
Al 13,300
Al 2eldl EXIX3 18,000 18,000
= 5,400
Al 12,600
402 QI2F X201 & 18,000 18,000
= 5,400
Al 12,600
02 QI XHZ AL E R (01X THE) 18,000 18,000
Oald 2eJ €Xl X
30,000,000 »60% 18,000
== 5,400
Al 12,600
=gt s =32 NHIA HISAHY 20,000 20,000
= 3,000
Al 17,000
201 er23| 20,000 20,000
= 3,000
Al 17,000
01 AtR2t2|HI 20,000 20,000
OJI=dst g =MEEMHIA MB (2
23) At 20,000,000 *14! 20,000
== 3,000
Al 17,000
AEIZE 2H XMl XN2AMY 120,000 120,000
S 21,600
Al 98,400
201 er23| 120,000 120,000
= 21,600
Al 98,400
01 AtR2telHl 120,000 120,000
OAEIZ2S RH = Xt
120,000,000 * 14 120,000
s 21,600
Al 98,400




od
i’
oF
uJ

70
or <

281818 © S S S S S e
SlalS N S N ~ o o
A |RIIR % S 8 8 1 1
E
E=)
ele|le g S 3 3 8 8 S
S S S S S S S
< < <
b g B 5|5 & |® .
ild ~
RIS
81818 I 88 8 8|8 88 8|18 8 8 8 8 883 88 8 8¢ f 288188888 8|8
SlalS S|l & & X Slgg|logxoes 5 S © S - e AN&E ©O I8N TF Ioa|S
r © o — <
<
=3
mrmwW= rr rr rr rr rr rr rr rr rr rr
o i ol ol ol o ol ol
S S & S Q W S8 3
= = & ur 8 50 o E W4
r X0 e e} - @ =
mo al K m m 0d = Wa mm RIS
&= T g o 5 o & KF 0
b o : g z8 i o oF g 3
i W 3r S o AW ye oS o
= |ul <1 00 ulo . 10 o ~ KA S
I |= Do ) by o o 0 & S
= E“ ! 0H I = oF E ulo
. 2= = oK 0 K o < a1
= = < = 2 _ R = ok KT
= |z 50 =y 10 X o - 10 = =
oo w Ki L o ok _ o 30
Wﬂ\ x % = ol Rr < oF <A ok KO =K
o [O|E] <R 3 |z |z W O WS W = 2
. wi | oK B = = 0 o W %0 0 o = 70 o K Y
= |=|D|D OBD _ = 0H A K <F K D oK KA W Ke T T R . -
L Tl N TR B t |3 (o 3R 30 & W RCM)RM R EUW |z (KW wm |
R0 z|l=z 2= |H 3 = ol 0 00 o m o 0 sl 0 = &0 0 =
- O
0 0D —_ | — O o] =0 — — O O O O [aN) — O
%z |h||° i < o o e 1S 8
— o) =) N S N
o |e 30 0k
o




S OfRM AL
M 2201 SH(SNSSA/EHLEN - OfE)
ool s 2 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 120,000
01 M=4l 120,000 120,000 0
OARzxFMS2(2E S) 7Y
120,000,000 * 14! 120,000
= 120,000
2 &gt Xelk& 720,000 340,000 380,000
= 180,000
Al 540,000
307 @I2to| & 720,000 340,000 380,000
= 180,000
Al 540,000
02 LB HANHEE 720,000 340,000 380,000
OIf2 &2 HelXe
30,0002 *30,000=+80% 720,000
= 180,000
Al 540,000
SHOE HAA 2,500,000 2,500,000 0
= 1,250,000
Al 1,250,000
308 AHAIEHMSOIE 2,500,000 2,500,000 0
= 1,250,000
Al 1,250,000
11 SI[2S0 e YA A A 2,500,000 2,500,000 0
OBTOIE THAA
2,500,000,000& *14] 2,500,000
= 1,250,000
Al 1,250,000
SItAtel A 24,000 30,000 26,000
= 7,200
Al 16,800
307 @120l & 24,000 30,000 26,000
== 7,200
Al 16,800
02 LB MAHEE 24,000 30,000 26,000
OSJtAtel 2 24,000,000 * 14! 24,000
< 7,200
Al 16,800
offMe ] dadsty EX 160,000 0 160,000
= 80,000
Al 80,000
401 AIEHIX S0 160,000 0 160,000
= 80,000
Al 80,000




AT A
M 2201 SH(SNSSA/EHLEN - OfE)
ool s 2 (ol m2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
01 Al 160,000 0 160,000
OMLMI| HATSHE X
160,000,000 * 14! 160,000
& 80,000
Al 80,000
oHMgDJ] Hatateg K& 2,000,000 2,000,000 0
s 1,000,000
Al 1,000,000
101 @124t 903,646 853,542 50,104
s 451,823
Al 451,823
M IItHZ22SEs 903,646 853,542 50,104
Odi2MelD] ZstArS XA 903,646
SRE 76,9603 45«52 32 554,112
s 277,056
Al 277,056
oxFgsg 76,9603 *45% x 12 x32Z= 110,823
s 55,411
Al 55,412
oFUIRRY
76,9602 *45% x82 »150% 41,559
s 20,780
Al 20,779
o ZtAlH| 3, 0003 #45H x5 *32== 21,600
s 10,800
Al 10,800
o wEH| 13,0003 ¥ 52 323 18,720
s 9,360
Al 9,360
oAt EEE 156,832,000& 14! 156,832
= 78,416
Al 78,416
201 L2 | 1,081,3%4 1,129,658 A48,304
s 540,677
Al 540,677
01 ArR222ltl 1,081,354 1,129,658 A48,304
OgBt=2H| 948,974
oo2MY Il =HES P
74,346,000 3 14! 74,346
s 37,173
Al 37,173
oMY Il =01 HIDIS M2l
874,628,000& * 14! 874,628
s 437,314




S OfRM AL
M 2201 SH(SNSSA/EHLEN - OfE)
ool s 2 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 437,314
Oul=s| 6,750
ooflgMD| 22X HEs, otNg § +
& 150,000 ~45& 6,750
s 3,375
Al 3,375
ouzta 125,630
OMYMBID| =N | Uit
125,630,000 * 14! 125,630
[ 62,815
Al 62,815
202 04l 15,000 16,800 A1,800
= 7,500
Al 7,500
01 =LHNHI 15,000 16,800 1,800
OdfiefMelD] AEfZA & 2= bl
20,0002 x 15 x50 15,000
[ 7,500
Al 7,500
otdat= MAeJ] FaetAte 800,000 800,000 0
= 560,000
Al 240,000
101 @124H| 362,398 305,311 47,087
= 246,679
Al 105,719
MU IIRIMZZENSES 362,398 305,311 47,087
Odtdat= &0 HotArd 352,398
oQIfY 76,9603 x18H 52«32 221,645
= 185,152
Al 66,493
oFxFsd 76,9603 x18H x 12«32 44,329
= 31,030
Al 13,299
osdIRsdY
76,9602 * 182 8 +150% 16,624
= 11,637
Al 4,987
o2tAlH| 3,000 18 +52x32= 8,640
= 6,048
Al 2,592
oMeEER 61,160,000& »14] 61,160
= 42,812
Al 18,348
201 fer= 3| 432,602 477,889 N45,287




SAT A
M 2201 SH(SNSSA/EHLEN - OfE)
ool s 2 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 302,821
Al 129,781
01 At2tltl 432,602 477,889 N45,287
Oget+=EHI 399,902
oMyYJ| =HES 7
24,000,000 *14] 24,000
= 16,800
Al 7,200
oHJIE Ml 375,902,000 x14] 375,902
= 263,131
Al 12,771
Ooul =l 2,700
o2t HYs, otNgt S 7Y
150,000 18 2,700
= 1,890
Al 810
ogxz 30,000
M| 2 FHl AR
30,000,000& * 14 30,000
= 21,000
Al 9,000
202 04| 15,000 16,800 1,800
= 10,500
Al 4,500
01 =LHO LI 15,000 16,800 A1,800
OMYI| ABIZA % 2= 018
20,0003 x15F «50! 15,000
= 10,500
Al 4,500
HiCH2tE XNZ 0l AIEAL 500,000 0 500,000
= 250,000
Al 250,000
101 21AH| 408,010 0 408,010
= 204,005
Al 204,005
M ORNZZ2NSE S 408,010 0 408,010
Otttrea3 X1z ol X 408,010
o2y 76,9603 x20 B x6L x32%= 246,272
= 123,136
Al 123,136
oFFrd 76,9602 x20 S x 12 x325= 49,255
= 24,627
Al 24,628




S OfRM AL
M 2201 SH(SNSSA/EHLEN - OfE)
ool ot 2 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
SEEERES,
76,9602 20 *82 *150% 18,471
= 9,236
Al 9,235
o 2HAH| 3,000& x20H+52 323 9,600
= 4,800
Al 4,800
oMUY 5,000 x4 H 52«32 3,200
= 1,600
Al 1,600
o SH| 13,0003 *b = +52 *323= 10,400
= 5,200
Al 5,200
oASIEEE 70,812,000 14 70,812
= 35,406
Al 35,406
201 Let23| 91,990 0 91,990
= 45,995
Al 45,995
01 AtR2telt] 91,990 0 91,990
Oget=2H| 50,000
oo MY Il =HES FL
50,000,000 14! 50,000
= 25,000
Al 25,000
Oul=t| 3,000
o2 HY=F, Mg S FY
150,000& *20H 3,000
= 1,500
Al 1,500
ogxtz 38,990
oZ&d| x| 38,990,000 * 14 38,990
= 19,49
Al 19,495
Y = elxMeD| =04 800,000 700,000 100,000
= 400,000
Al 400,000
307 gIzHol ™ 800,000 700,000 100,000
= 400,000
Al 400,000
05 2IZ2tRES 800,000 700,000 100,000
OXgS MY D| =0HAIE
800,000,000 » 14! 800,000
& 400,000




S OfRM AL
M 2201 SH(SNSSA/EHLEN - OfE)
ol olgerd 2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 400,000
ofgted 28 el 111,755 108,342 3,413
101 ©1AH| 31,797 30,491 1,306
M ORNZZ2NSE S 31,797 30,491 1,306
OB HAEIRE 2BAL 29 31,797
col=gl 76,9601 * 12152 507 20,010
e 76,9602 124+ 124 #5202 4,002
oMEBAD BELY
6,080 x1H+62 +52== 1,897
og (ANl 3,000 x 1 +52 x52= 780
oMBIEER 5,108,000 5,108
201 Ler23| 43,258 43,151 107
01 At2teltl 3,000 3,000 0
Odgt+==H| 3,000
o8I ®J| erde||
3,000,000 *14] 3,000
02 S52g4l 40,258 40,151 107
O=32=  HAl 30,000
CHAEZS HSIIANE 28 g &
SHE S 2,500, 0002 * 122 30,000
ogizH| 258
SABIIAE LEHI(SR)
1,610 %2 £ x4E 20 258
OAlE &I Xl 10,000
cHAEZSE Z&J| =Al 22l
200,000, 0002 *5% 10,000
307 @I2to1 & 11,700 11,700
02 QB AANEE R 11,700 11,700
OO =0t HICI& 2D 2S(LHERIRENS
X3l 014XI3l) 4,850,00021 %1 4! 4,850
OEJIME| EIXITHEl 2 AR +5F5He
S(H===+3 - B2 H3l)
6,850,000 +14] 6,850
308 AHXIEMSOIH 25,000 23,000 2,000
12 JIEetR8s 25,000 23,000 2,000
OmPIZ M=2F8s 1024+2,500,000kg 25,000
SO 2579 2t 3,500 5,700 2,200
201 fer= 3| 1,500 3,000 1,500
02 s3=gHl 1,500 3,000 21,500
OAlZ EHIs Xl 1,500
oA 2579 O HXIE HEA
+=cltl 1 0003 14 1,500
202 04l 2,000 2,700 AT700
01 =LHAHI 2,000 2,700 AT700




S OfRM AL
B 2202 SH(SHHLEA/ AL - 01E)
ool s 2 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O==4HHE 2579 AR AL 08|
20,0003 x5 20 2,000
HISMEE 220 29 10,000 10,000
201 er=23y| 10,000 10,000
01 AtR2t2|HI 2,000 2,000
OXZENEH 228310 2
2,000,000 *14] 2,000
02 S52g4l 8,000 8,000 0
OZZ23 2 HAl 3,000
CRZYUHEY PRED 2223
3,000,000 *14] 3,000
OAIE2 &= X 5,000
oM XEMEH 2231 [l
5,000,000 * 14 5,000
2ot A0l Mel At 400,000 0 400,000
= 200,000
Al 200,000
101 @124H| 193,510 0 193,510
= 96,755
Al 96,755
04 JIZtN22 XS 2+ 193,510 0 193,510
OZot7 XDl XMelAte 193,510
o0IFY 76,9003 x10H x5 x32%= 123,136
= 61,568
Al 61,568
oFFd 76,9603 x 102 x 12 #32== 24,628
= 12,314
Al 12,314
ogdIRsY
76,9602 * 10«82 *150f% 9,236
= 4,618
Al 4,618
o2tAlH| 3,000 10 +52*32= 4,800
= 2,400
Al 2,400
oMeIEERE 31,710,000 x 14 31,710
= 15,855
Al 15,855
201 =3 205,290 0 205,290
= 102,645
Al 102,645
01 At2t2lt] 205,290 0 205,290
Ogit=3ZH| 200,290




SAT A
B 2202 SH(SHHLEA/ AL - 01E)
ool s 2 (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oot A HIIE Xl
168,790,000 *14] 168,790
= 84,39%
Al 84,39%
SUBIT M| £HBE 7Y
30,000,000 *14! 30,000
= 15,000
Al 15,000
o222t HEIHl #Y
150,000& %10 1,500
= 750
Al 750
Oogxz 5,000
oot Ml =HEH St
5,000,000 * 14 5,000
= 2,500
Al 2,500
202 04t 1,200 0 1,200
= 600
Al 600
1 =048l 1,200 0 1,200
OZot+ MDDl AEEAL & 2= O]
20,0003 23 30! 1,200
= 600
Al 600
OIS THoH Ol 3,234,347 1,882,280 1,352,067
= 356,080
== 580,000
Al 2,298,267
Fits= 280y BAEs3 583, 160 403,782 184,378
= 294,080
Al 294,080
307 lztol & 588,160 403,782 184,378
= 294,080
Al 294,080
02 2B YAIHE X 588, 160 403,782 184,378
O+MES THoIY WAl B2
588,160,000 * 14 588, 160
= 294,080
Al 294,080
HMETGHUL X (OtFel SsH (HMEAIY) 560,000 398,160 161,840
< 280,000
Al 280,000
402 QI+ X201 & 560,000 398,160 161,840




S OfRM AL
B 25012 SH(SHSS/EHLEN - OfE)
Rl OIS XHoH ol & EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 280,000
Al 280,000
02 QI X2 AL EE(0IETHE) 560,000 398,160 161,840
Odfiatit=el Ald Szt XI&
560,000,000 * 14 560,000
= 280,000
Al 280,000
2dale=itE Mol2E8s X 1,000,000 193,500 806,500
== 300,000
Al 700,000
307 212+01& 1,000,000 193,500 806,500
< 300,000
Al 700,000
06 2= 1,000,000 193,500 806,500
O2al=4t2 MalEEE K
1,000,000,000& » 14 1,000,000
= 300,000
Al 700,000
ArSATHOH LIHZEAF R HOtRFELSE THYI 20,780 28,250 AT,470
201 fer= 3| 13,580 20,450 26,870
01 At 2t 13,580 20,450 26,870
OXSi Mol O (ME) TIHEAL 225 7
1,500,002/ %141 1,500
O0loh 82 QUAID LHBE 7
5,000,000& *14] 5,000
oot K82 HII= Xl
354,000 *20& 7,080
202 04| 7,200 7,800 A600
01 =LHOLI 7,200 7,800 2600
OXIITHAH 0124 (M) TIoh o L WaH=
At 20,0003 38 *60 3,600
Ogiet REYE SFSQ & ¢
20,0002 x3& 60 3,600
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